INSTRUCTION
21690-321691

ASSEMBLY

01/28




NOILONAULSNI ATGINISSV




Part List & Hardware List (Box1-WF321690)

Al I A2 v A3
Leg-1pc Leg-1pc \' Leg-1pc {

Ad ] |A5 / AG /
Leg-1pc { WoodBar-1pc Panel-2pcs

A8 / A9 % B7 N
WoodBar-1pc Panel-1pc Panel-2pcs AN

B9 / C2 j C3 j
WoodBar-1pc Panel-1pc Panel-1pc

C4 j C7 / C8 \
Panel-1pc WoodBar-2pcs WoodBar-2pcs

C9 D1 D2

~~

Leg-1pc }I

=

WoodBar-1pc Leg-1pc
) / > ; J >
WoodBar-2pcs Panel-2pcs Front Drawers-4pcs

03/28




Part List & Hardware List (Box1-WF321690)

) / - < > -
Slats-8pcs Bottom Drawers-4pcs Panel-1pc
) / - ﬂ

Slats-2pcs WoodBar-2pcs

04/28




Part List (Box2-WF321691)

3

WoodBar-2pcs

A7 E B1 B2
WoodBar-1pc Panel-2pcs Panel-2pcs
B3 B4 B5
Panel-1pc Panel-1pc Panel- pc
B6 B8 C1

WoodBar-1pc

D4

WoodBar-1pc

D7

Side Drawers-4pcs

D8

Side Drawers-4pcs

D9

Back Drawers-4pcs

A

Support Drawers-4pcs

05/28




Hardware List (Box 1-WF321690)

3

g

1
S
> o
Screws 1/4" x30 Screws 1/4" x40
12pcs 10pcs 10pcs
4 6]
J1/4" x 50 mm J1/4" x 70 mm J1/4" x 80 mm
Hex-Head bolts 14pcs Hex-Head bolts 10pcs Hex-Head bolts 4pcs
/ 8 9]
==
Y &
@1/4" x 13 mm @6 x 30 mm
Hex-Head bolts 8pcs Horizontal-Hole bolts 36pcs Wood dowel 4pcs
10 11 12
& A
M3 x 12 mm
@10 x 40 mm Allen Key 1pc
Wood dowel 18pcs Wood Screws 22pcs
13 14 15
M4 x 25 mm M4 x 30 mm M4 x 15 mm
Wood Screws 2pcs Wood Screws 56pcs Wood Screws 30pcs
18

16 J

17

o

i N
Steel Bracket Magnet Door Catcher @5 x 20 mm

4pcs 4pcs Metal dowel 8pcs

19 20
<
@“\\W C o
Assembly Tools Required (Not Included)
J1/4" x 30 mm

Hex-Head bolts 2pcs

06/28




STE P1 Following below illustration.

10 2
&
6(pcs) |4(pcs)

07/28




STE P2 Following below illustration.

10 2
&
8(pcs)  |6(pcs)

08/28




STE P3 Following below illustration. 3

STE P4 Following below illustration.




STE P5 Following below illustration. 3

STE P6 Following below illustration.

10/28




STE P7 Following below illustration. 8

@)
&

8(pcs) |4(pcs) |4(pcs)

11/28




2(pcs)

STE P8 Following below illustration.

12/28







4(pcs)

STEP1 O Following below illustration.

14/28




STEP1 1 Following below illustration. 8

72

2(pcs) 2pCS)

™\
5
\ x e 8

™\

: T BI” SN
g
1 A
\§\!

5

15/28




8(pcs)

STEP1 2 Following below illustration.

16/28




4(pcs)

4(pcs)

STEP1 3 Following below illustration

/A A

17/28




4(pcs)

4(pcs)

8(pcs)

STE P1 4 Following below illustration.

18/28




4(pcs)

4(pcs)

STEP1 5 Following below illustration.

19/28




STEP1 6 Following below illustration. 8

2

20/28




2(pcs)

M)
>
&R

19 11

1(pc)

STEP1 7 Following below illustration.

21/28




15
(

17

STEP1 8 Following below illustration

STEP1 9 Following below illustration




23/28

15

STE PZO Following below illustration




15

STE P21 Following below illustration




STE P23 Following below illustration.

STE P24 Following below illustration.

/)

‘\/\/

//

ES5

E3

E3

ES5

25/28




STE P25 Following below illustration.

STE P26 Following below illustration.

26/28




8(pcs)
16

4(pcs)

20(pcs)

STE P27 Following below illustration

STE P28 Following below illustration

27/28




FINISH:




